Announcements
e Quiz 1 This Week!

dUpcoming deadlines:

e Tuesday (9/11)
e PLHW

 Friday (9/14)
e Writtein Assignment #2
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Monday, September 10, 2018 9:06 AM

Goals and Objectives

* Solve system of particles at equilibrium problems
following general procedure for analysis.
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Example

If the box weighs 2 kN, determine the
angle of the cable at Cwhen a
horizontal force of 3 kN is applied at B
o make the system in equilibrium.
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Determine the distances x and y
for equilibrium if F;, =800 N and
F,=1000 N.
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Equilibrium of a system of particles

Some practical engineering problems involve the statics of interacting or
interconnected particles. To solve them, we use Newton’s first law: SF = ()
on selected multiple free-body diagrams of particles or groups of particles.

The five ropes can each take
1500 N without breaking. How
heavy can W be without breaking
any?
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Example

uctet

The 30-kg=e is supported at A by a
system of five cords. Determine the force

in each cord for equilibrium.
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Example QE(AFD)

The 30-kg pipe is supported at A by a

system of five cords. Determine the force

in each cord for equilibri\un;;e Y 7&0*“'6‘4
no 2 N

Lec06Sep10 Page 14



Page 13
Monda

Example

Determine the tension in each cable for the system below.
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